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ing the most appropriate option.

1.

Positive facilitation of present learning
through past learning, for example

addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical (2) Sequential
(3) Lateral (4) Bilateral

The democratic organisation of school
influence learning, this of
learning is related to :

(1) Methodological aspect

(2) Social aspect

(3) Physiological aspect

(4) Psychological aspect

Which of the following is nor an

appropriate  strategy for improving

students problem solving ?

(1) Functional fixedness of students

(2) Give extensive opportunities to
solve real-world problems

(3) Involve  parents
problem solving

(4) Monitor students effective and
ineffective  problem
strategies

Rohan is reading a latest Bahubalj comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of ;

(1) Only intrinsic motivation

(2) Only extrinsic motivation

(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation

factor

in  children's

solving

P.T.0.
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following is a good

Which of the
y to avoid cultural

assessment stratcg

bias ? '

(1) Assess students using a variety of
methods |

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are

due to heredity
(4) Avoid using
assessment purposes
In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?
(1) Pre conventional level
2) Conventional level
(3) Post conventional level
(4) Mutual interpersonal level
A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :
(1) Heredity
(2) Environment
(3) Early-later experience
(4) Continuity

portfolio for

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) !_\ssignmcnt for students to create
:;:ttce;mes of important historical

3) Gmpg worksheets to students that
require them to recall the facts

. presentt-ad in their text books

4) Presenting students with statements
such as "Lal Bahadur Shastri was

our greatest Pri Cusmy’
me  Minister"
defend or refute er" to
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9.

10.

11.

[A]

According 10 Erikson, in coTnplcx

societies teenagers experience which of

the following state 7

1) Identity crisis

(2) Identity achiever_nent

(3) Identity moratorium

(4) Identity foreclosure |

Most suitable strategy for a teacher,

when he/she is working with adolescent

students is to :

(1) Ask students to make comparisons

(2) Propose a problem and invite
- students to form hypothesis

(3) Give children experience  in

ordering operations
(4) Construct an inclined plane or a hill

Children considered as low vision who
have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

~(4) 20/10 to 20/30

12.

13.

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions

. and directions is :

(1) Discovery learning

(2) Guided discovery learning
(3) Problem based learning
(4) Project based learning

Child's symptoms when, he/she can not
stay focused on a task, act impulsively
1gnoring social rules and lashing ou;

with hostility wh fru
g €n -
indication of : Strated, i

(1) Attention — . :
disorder et hyperactivity

(2) Slow learner

(3) Mentally retardat;
: rdat
(4) Amnesia .

P.T.C
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16.

18.

ocial cognitive theory as

isto s s e
ial constructivist

---------

(2) Seigler
(4) Bandura
Bronfenbrenner's

student's family,
ence his/her

(1) Skinner

(3) Piaget
According to
Ecological Theory,
peers and school etc. influ
development and they belong to the :
(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and

" more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?

(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

?arul's intelligence test indicate that she
Is average to above average intelligent
How}ever her grades in readin '
spellings, social sciences and science aff;
very low. Her maths grades are quite

high & her writin :
s
Parul most likely hgs :klllS " Bequals

(1) Dyscalculia

2 D :
(3) Dyslexia (2) Dysgraphia

(4) Dysphasis
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19.

[A]
Which of the following question is most
likely to get students to reflect on their
purpose ?
(1) What is most important to you in
your life ?
(2) How can you organise your life ?

FT G & ¢ (3) What can you do to get good
G) o oD ¥ F o F A aradss 7

GiET| g7 (4) How can you set better short term
H&4)WWWWWW goal 7

1 T € 7

Ry 20. Which of the following programme is
20, sfereTell A & fe 1A not suitable for gifted children ? ._
BI-|1 HEHT T T 7 (1) Special classes ';
Y1) faftree @ (2) Remedial Teaching b
2) STERIEE f{TE (3) Acceleration B
(3) @ (‘Tﬁ’ﬂ?ﬁ) (4) Enrichment in regular classroom E'
(4) W N A Gad SCting ¥
21, fFR &9 geradl e HBIR SR 21. Young people mainly girls engage 1n
- It OiR orfyd oA FE A FA strict dieting and excessive exercise. ¢
Wl &1 R @ g8 Se g This eating disorder in adolescence is a
e W % b known as : ,5
1) TR : (1) Anorexia Nervosa E
() arEa-TERg sy (sfaatd ‘
FREg E‘Iaﬁm) _ (2) Obsessive Compulsive Neurosis |
©) St Pralts ) (-‘-{i’( (3) Neuro-developmental Disorder
(4) giaftar =44 (4) Bulimia Nervosa
22. R & & dF-ar g auRel 9 @ 22. Which of the following statement most
Haifies TR &9 A qRenfg Hm & 7 appropriately defines the term inclusion ?

() ol omasgear a@ Ao @
faftre foemedt § R 2
ORI Fo o S < B
e 3 faftre @am A Ruew &
3) 9 staemerar a AR @ AR
T ¥ s gy e 3
R

M % Q¥ gy R 3
Leve[_maw

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special’

needs most of the time in regular
class

(4) Educating children with special
needs full time in the regular
classroom

P.T.O.
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e following statement is

_ Which of th .
i correct about the nature of epnonons ?
(1) ‘Emotional expressions are

modified by learning.
2) Emotions are permanent state of

the organism. .
(3) Emotions ar¢ aroused by internal

stimuli. L
(4) Certain facial ~expressions of
emotions have different meanings.

Which of the following type of learning
style is used when students approach

the learning miaterial in a way that helps
them understand the meaning of the
materials ?
(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style

25. Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language
(2) Phonemes of language
(3) Pragmatics of language
(4) Morphemes of language

24,

26. Learning situation in which multiple

partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction
(3) Cooperative learning
(4) Discovery learning

27. Which of the following statément is

incorrect aboyt the
development 9

(1) Development foll
: OWs a definj
predictable pattern. kR

principles of child

(3) Developmen. i
nt g
| product
’ heredltary and environment %
4) Development works o.
n

Principle of j ntegratiop the
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[9]

28.

29.

30.

[A]
Accordmg to Gardner, thc ability to

detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as

(1) Lingu_istic intelligence
(2) Bodily — kinesthetic intelligence
(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without referring to  real-world

circumstances is :

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
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: o
Direction : Answer the following qués il

. rds
46. Which one of the following wo

iven @s
underlined in the sentences gv

f)
options has been used as a verb '

d
(1) The stage performances arc calle
Raas Leela.

(2) The performers enacted Raas Leela

on the stage. g

~(3) Each actor performed in a circular
space on the stage in Raas Leela.

(4) The performiﬁg artist moved in a
circular space on the stage in Raas
Leela. '

47. Seclect the correct option from the
following that corredtly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

2) He said to me congratulations,
(3) He exclaimed congratulations,

(4) He is saying congratuiations.

48. Fill in the blank with the correct
preposition :
Do you usually go out ........ Saturday
evenings ? .
(1) in (2) at
@) on (4) within
Level-3/4317

112]

| [aﬁﬁ’[l ENGLISH ]

s by seleﬁ'ting the most appropriate oplion.

49.

50.

51.

52.

Choose the correct vex.'b form 1}1}11 t,}:;i
following sentence against the bla '
space so as to complete the sentence :

"My father .......... for Delhi
yesterday."

(1) leave (2) will leave

~3) left | jf@) will be leaving

Choose the correct option to fill in the
blank space in the sentence _which
expresses the correct notion hinted in
the bracket against the blank space :

"You (command) apologise or
face the consequences."

(1) must (2) shall

(3) may (4) could

Pick out the correct option to indicate

the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."

R) sea
(4) blew

(1) breeze

(3) cool

Ic.:lentify the underlined word in the .
given sentence,

I see him Passing my hoyse every day.
(1) Gerund |
A2) Present Participle
(3) Infinitive
(4) Object
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53.

55.

56.

7.

- AY) Beginning
Levelyq17

[dentify the correct meaning of the
underlined idiom in the following
sentence from the options given below :
nClimbing Mt. Evcrest is not a child's

play for anyone."
(1) very easy 10 do

_(2) very difficult to do

(3) pleasant to do
(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

2) The principal hoisted the flag on
~ Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote outline of a

STOLY OR <cvvuver blackboard."
(1) a,a (2) - an, the
(3) the, a ~(@) athe

Which one of the following words is

not a noun ?
{2) rice
(4) nice

(1) advice
(3) device
Choose the word which is spelt
Correctly -

(1) Beegning | (2) Biginning

(4) Begining

[13)

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :

(1) knowledge

~(2) improves

(3) reading

(4) your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced

philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad

Gita.

.(3) The Bhagvad Gita has presented a

balanced philosophy of life.
(4) A balanced philosophy of life was
presented by the Bhagvad Gita.

Identify the compound word from the

options given below :
(1) Development
(2) Newspaper

(3) Powerful

4) Childhood

P.T.O.
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Pfecrion : Answer the following queSlme' selecting the most appropriate op tion. _

o1 3 aed @ ol 9 16 o 3| 7 61. The average age of three boys is 16 years
I g @ I 4:5:7 &, a | andtheratiooftheirages-is4:5 - 7, find
o B dea & 9y Rl © ¢ - out the age of smallest boy.

(1) 8 ¥ ) 9 (1) 8years (2) 9 years
. *% 1$ 4) 16 @ (3) 12 years (4) 16 years

" g s%‘:’; ﬁmfﬁajlo\?g g qu 62. Inan ex.amination 60% of students passed
a3 e A EQ:@ ) , foed in English and 70% students passed in
A 35t Maqfi;""mi . 2:75500 ~ Maths, 20% students failed in both subjects
o & e Pored % ? , al gd 2500 students passed in both subjects. Find
(1) 3000 <) 450 : out total number of students :
(2300 (4) 5000 8; 3000 - (2) 3500

63. A, B @ 991 & S&f¥ C &R 4000 (4) 5000

%,E’Amc%wﬁ%g]fﬁﬂ% 63. A is clder to B while C

C,B¥ . e C and D are elder
T 2, A Fre to E. E

1 3 ) lies be
¥ - T tween A and C and C i

MITF w9 G elder SR iy
1 Ty ? to B, then which of the followin
(1) A CTEI@QCDATME statements is necessarily true ? ¢
(3) D,C & 921 Y1 4)E, B A ; (D Aiselderto C (2) Ci :

S B ¥ gz ¥ o v (2) Ciselderto D
bl a7 @ 31 A d g (3) DiseldertoC (4) EiseldertoB
%lﬁerqaa?H%lA%wWY 64. Bottom surface of a cube is empty. X i
: T T R B 2 , marked between A and B, Y mp i is

) T 9T o) B f e Telftiof A, Thes 7 1 arked on
(3) e @ G surface of cube ? Arked onl wiieh
65. B &R C (1) bottomside (2 :
A 3 P AR A BIC & 5f (3) in front side o l_.lp51de :
fﬁmmﬁm E®ra ﬁwﬁmﬁgﬁl 65 %) nback side
-1 o . A is th
(1) E &1 g Eq;m ? i mother Z?Et}éezs(liB e
() B # R B % et o o o DAL 0 . TR
| ment
~3) D#H URYE ¥ (1) Bisson of it
4 D > sono E.
Livei-diaz s T AR (2) Eis father of B. .
(3) Eish A }\/
s husband of D, w_ﬁL’
(4) AissonofD. 2
3
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66.

67.

68.

69.

70.

.

7,

(1) SFU

et aomer d R onRl @ ey
S auRaRiT @ ¥ 7

(1) 8 2) 9

3) 12 M4) 11

e ot # o7 9= ST ST

|CV, 5FU, 9IT, 15LS, 170R |
(2) 9IT
(3) 15LS (4) 170R
R T Reedl § 9§97 eifed

(1) 171 2) 131
(3) 161 «4) 181

frfoiad oral gy & Ru g 5y
% 9gaR e @

i. - Critical i
iii. Crisis iv. Crisp

(1) iii, iv, i, 1 (2) 1, iii, iv, ii

@) iii,iv, 1,1~ (4) iv, iii, i, ii

e ol aofaren @ fuda w9 4w
Rar o, @ arff @R & 199 e &
Tt S 84T o7eR i1 8 7

(M3 T () P

3) Q \@) R .
S 'PROPERTY' ¥ atardl & T& R
g'q%,ﬁa%qwﬁ.uﬁaaﬁam%

Criterion

[15]

66.

67.

68.

69.

70.

71.

72.

ey

: LA]
In English alphabet, how many letters
are unchanged in mirror image 7

(1) 8 2) 9
(3) 12 4) 1

Find the wrong term in the following

series :
1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT
(3) 15LS (4) 170R

Find the Odd one out from given
options : | ’
(1) 171 (2) 131

(3) 161 (4) 181

Write the following words in the order
given in the dictionary :

i.  Critical ii. Criterion

iv. Crisp

(2) i,iii, iv, 1i

(4) 1iv, iii, 1, ii

iii. Crisis’
(1) iii, iv, ii, i
(3) iii, iv, 1, i
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
T 2) P

(3) Q @4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

1o 2) 1

3) 4 “4) 3

Two persons A and B stand in front of
cach other in morning. If A's shadow's
lies in the left side of 'A’, then in which

direction B's facing ?
(1) South (2) North
(3) East (4) West

P.T.O.
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74.

75.

76.

78.

79.

(1) 25% @4 (2) 25% &I+
(3) 33%%EMN  (4) 33%%dH

o 2x5+7"3x;-ll:2x3+8_5 _Eﬂ.’ f?f

x=7?

(1) 1 () -1

(3) 2 4) 2

Th S0 H FHYE %A 264 T
& T ST 924 I B 33 A
F T SUE § T AU & ?

(1) 7:6 (2) 6:7

@) 3:7 @ 7:3

TR AN G B G | 9 &
aﬁrﬁﬁsoaoamzaa‘%amﬁ
676 To B SRAY ? ‘

(1) 520593 (2) 572 59

(3) 600777 (4) 62581

I 5 HURY & A T BAY X o
T & Y IUR R @, AR e e
1% aite o S O ga 240 vy
i o Bl | FE o fra ¥ 7

(1) 5,000 To (2) 6,000 o

(3) 8,000 o (4) 12,000 Fo

evel-3/4317

73.

74.

75.

76.

7 i

gives 15% discount on
f his items. How much
k on his items to the

A businessman

the list price O
i d mar

price he shoul

cost price to-get 19% proﬁ{': ?

(1) 34% (2) 400A:

(3) 25% (4) 30%

After 5 years, father's age wil

£ his son's age. 5 years 2ago
f his son's age.

| be three

times 0

father's age was 7 times Ol DI

The present age of the father 1s :

(1) 40 years \\(2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens 1s equal to

the cost price of 8 pens, then profit/loss

in percentage is :
~1) 25% profit

(3) 33%%loss
2x+7_3x+llz2x+8_s, e

(2) 25% loss
(4) 33%% profit

If
5 2 3

x=7?

(1) 1 +«2) —1

(3) 2 4) -2

The cuzrved surface area of a cylinder is
264 m” and its volume is 924 m?, then
what is the ratio between ‘its diameter

and height ?
(1) 7:6 2) 6:7
=l 87 (4),7:3

78. What principal on compound interest

has their amount Rs. 650
and Rs. 676 in two years ?

N1 Rs.520 () g 57,
(3) Rs. 600

in one year

(1) Rs. 5,000
(3) Rs. 8,000
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80. gswﬂm(qa;gﬁﬂ%:’»oa%"gﬁ
qﬂﬁm%;gﬁrﬁmﬁ'ﬁﬁ%?
) 375 e (2) 225 AR
o 15 € (4) 250 AN

81.W,W1aﬂaaaamﬁaﬁ%:

) & (2)1‘@1‘{

o) T (4) el
ek 3 WY F A ® HEUR W
O il G A

qald (it sy wdE) o H

ZaRgd HITg ©

() o S

i) =9 @

(iif) TR e gEeT

(iv) 34 @

el T G

(1) (), (if), (iii), (iv)

@) (ii), (@), (ii1), (iv)

@) (), (i), (iv), (iii)

) (i), (v), (i), (1)
83. R o Jeaa: 9 ¥ @ Rt @ -

) fER (2) Fo=R

() Prar (4) Vedh

B4, I ¥ 3 g § cEferiad FEA W
frar #ife -

(a) T 30 doTe R e 3 S

gt
(b) 5 &farn & ToT g, I ERAM
T & 1 ofem AT

| g‘f/gq:r ¥y Py A da

1) 37 () wdr 3
™0 ¥ () w3
ﬁ)“ﬁ(a)eﬂ'wa(b)aﬁr%

) @) (b) 3 w3
#dia317

[17]

80.

81.

82.

83.

84.

1A}
At the speed of 60 km per hour, 125

meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter

(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is
?;t)uag::nsi (2) Hisar

(3) panchkula - (4) Ambala

On the basis of extent of the period as
Chief Minister, arrange the followiqg
Chief Ministers of ‘Haryana 1n
descending order (longest serving first) :

" (i) BhajanLal

(ii) Bansi Lal

(iii) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) (), (ii), (iid), (V)

@) (i), (@, (i), (V)

3) (@), (i), Gv), (i)

) (i), Gv), G, ()

The district, which is mainly irrigated

by Jui Canal : :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi:

(a) Shanno Devi was the Deputy
Speaker of Punjab Legislative
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/:

statements is/are frue ?

(1) Only (a) is true

(2) Only (b) is true

'(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

P:T: O
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[18]
e editor of 'Khair Andesh'

g ' was th
s @ oRy WERE B T % 85., l\\i}\l:spaper?
N ' 2 g‘ﬁﬁ g (1) Chandulal (2) Murlidha;
e E4; I ACIIE \ ; (3) Chhotu Ram (4) Sham Lal
o A 86. Consider the following statements about

- Eastern Peripheral Expressway :
(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

. o wEE 3 @
ra gﬁﬂfﬁiﬁﬁmwﬁﬂﬁaﬁﬁﬂ:

(2) T8 FE-TToTE- e d

f sear & |
(b) T T @9 200 R GRCICCIE (b) The total length of this expressway
L R is more than 200 K.M.
IR ¥ P TSR Which of the above statement is/are -
frue ?
(1) 39 (a) 99 & (1) only (a) is true
(2) %9 (b) 99 & (2) only (b) is true
\S; zr ar G;;) #r a; & (b) 798 (3) neither (a) nor (b) is true
o 0 - ®) " E , (4) both (a) and (b) are true
7. HRUS] Ffafag §
7w & 7 & fow fora & 87. Thé Markanda river does mot flow in
(1) T @ which of th; following district ?
@) T ~d4) sk (1) Kurushetra  (2) Sonipat
88. R a7 T gy 3 - &) Kol (4) Ambala
1) dgw 2) O 88.  The state tree of Haryana s :
(3) = 4) dm (;) Peepal (2) Khejari
89. YTIG'S RS ewfieg T-2018 if (%) Banyan (4) Neem
FrfofaT & & d-qp e 89. Which of the follows '
T 7 - O e Tollowing was the
(1) firg : 3 nation in Surajku : partner
() Wy Fai Jxund Internationa] C
6) TR~y P Rl ik
9. Frffed & § . (1) Egypt (2) Franc
' fery . (3) Ka ?
RS G o ECEE - i T zakhstan (4 Kyrgyzstan
(1) @ R o | ich of the fo]lowing district
. : OWest population ¢ ensity 9 s has the

() T=R
4 ﬁa‘ﬁ"l’ (1) Karna]

2 .
\ (3) Jhajjar \;; :;rsa
Level-3/4317 w
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[A)

7T - IV / PART - IV
siafas= / BIOLOGY

ﬁ,ﬁ;,ﬁwﬁﬂ@ﬁmﬁ%aﬁ?ﬁ@mmaﬁﬁﬁwgﬁw

/

n : Answer the following questions by selecting the nost app PR e Spian

o1. @il T YR § daw FEwEed H &
@A (A)eererrennnn vd daW
1) IR 2T B

(1) (A) IeTERE; (B) FHAES
2) (A)5H=; (B) T

(3) (A) FHHIER; (B) SRR
@) (A) e (B) o7

6o, Freffe ¥ @ Al Ry e
qEf, aiieReT @ b Wb GEi & 7

(1) & o Ia
(2) BfemA

(3) =9

(4) S T g

93. FAHELY & ded § frafafea § &

P AT & 7

(1) o= & Y ST oTasas @
) @har # suRefy

(3) TS X Heb P U
(4) a1 dieToEE @ SurEfy

94. TRIMTEE B §
(1) 99 Fo ey wre
(2) = e F e NN
(3) Tt e § srEIRg SN
(4)?€Tﬁ$“ﬁ@ﬂmrﬁﬁaﬁiﬁr{?f

vel-3/4317

g1. Of all the land plants, bryophytes alone
have independent (A)......... and an
attached dependent (B).......... .
(1) (A) Sporophyte; (B) Gametophyte
«(2) (A) Rhizome; (B) Rhizoids .
(3) (A) Gametophyte; (B) Sporophyte
(4) (A) Elater; (B) Axis

92. Which of the following systems of plant
classification is a natural system of

classification ?

(1) Engler and Prantl

(2) Hutchinson

'(3) Rendle
~(4) Bentham and Hooker

93. Which of the following is incorrect in
reference to Bryophytes ? '

(1) Water is essential for fertilization
(2) Presence of archegonia
™3) Presence of motile sperms

(4) Presence of independent sporophyte

94. Pyrenoids are :

~(1) Starch surrounded by protein grains
(2) Protein surrounded by starch plates
{3) Protein surrounded by oil layer

(4) Qil droplet surrounded by starch
grains

P.T.O.
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95. W,W@_‘ﬁ?@(m)
- zﬁrﬁﬁa‘{m@ﬂ%i
(1) 35 PRER & FuRafl & FRT

96. Wel FHW B UF &, TES, T

97. g, oM Ud oREl § AR gRdr @

e fpar mar R

(1) for=iregd & alq
(2) BRI F arla
3) ¥FEeE B arrr

4) g & oraig

98, 9+2dgH =g qmEr ST
(1) Fhrdfes Hars &
(2) Sfiatees HIme #
(3) T T F
(4) &= #
99. WM FIfH Hag FAelt ¥
(1) T et & yagr §
(2) Y F fefor §
(3) oy femfor
4) T =t & O ger ey &

100. WWW@W%
() WQ&@?&W@W
Q) T gRmHe
3) /Cf??%/’??}c'ﬂ"}ﬁ??‘;‘g
4) WW

Level-3/4317

& il

[20]

pear, guava and sapﬁta

h of
95. The fles because of the presence

fruit is gritty
of :

(1) Sclereids
(2) Amyloplast

«3) Sclerenchymatous fibres
4) Collenchyma

.96. 'Sida, a member of family Malvaceae

does not exhibit this prominent trait :
(1) Monoadelphous stamens
(2) Axile Placentation
(3) Presence of epicalyx
(4) Alternate stipulate leaves
97. Plants not differentiated into root, stem
and leaves are grouped under :
(1) Gymnosperms -
(2) Phanerogams
(3) Thallophytes
~4) Cryptogams
98. 9 +2 fibrillar arrangement is present in :
(1) Eukaryotic flagella
(2) Bacterial flagella
™3) Basal granule
(4) Centriole

99. Synergids help in :
() Entry of pollen tube
(2) Formation of endosperm
(3) Formation of embryo sac
>ed) Providing nptritioﬁ t0 male gametes

100. An example of Archae bacteria is
N1) Thermus aquaticus

(2) Bacillys thuringiensis
N3) Vibrig cholerge
4 Escherichiq coli
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102.

103.

104.

105.

106.

e B ¥ aE @ B9 A A @&

& Sar] PiRE gas e T 9]

der @ B0 amer 9 A A g8 fR
geg ol ? :

(1) 29 R (2) 59 FE
@) 30 e (4) 40 fFe
IO T8 SRl &

o F A hee e BROT el & 7
(1) ereiar @io

(2) gEhar |io

(3) Rreiardg o

4) Rregira o |

PR e @1 98 dew REe R
aEAwEE @ & G
gEAEREr g, §

SYFIETe 8 -

(D;ﬁm@wﬁuﬁmﬁﬁﬁm
r

(2) fafs= a@ ==t | IuRed gyl @
dfet B |

(3) st #t ' gmEr S SEenREl @
gﬁﬁr C i
r

(4) MR oy wgt 4 e ¥

Le“'91-3_/_4317

<

101.

| LA

The most abupdant carbohyq ‘

present 1n the blosphere out of r‘:}t‘e
e

following, is :
(1) Cellulose
~4{3) Rubisco

(2) Lignin
(4) Fructose

102. A bacterial cell divides once every

- minute. It takes one hour to fill a cup.
How much time will it take to fill half

the cup ?
(1) 29 Minutes

~3) 30 Minutes

(2) 59 Minutes
(4) 40 Minutes

103. Heterospory is seen in :

~(1) Lycopodium (2) Isoetes
(3) Equisetum  (4) Pteris

104. Red rust of tea is caused by :

~(1) Ustilago spp.
(2) Puccinia spp.
E) Cystocarpus spp.
(4) Cephaleuros spp.

105. The cell wall component because of

which class cynophyceae has been
renamed as cyanobacteria is :

(1) Gelatin
(2) Pectin

~(3) Pseudopeptidoglycan
(4) Murein

106. Ethnobotany is :

1) Branch of botany that deals with
Archaea.

>2) Botany of plants present in various
hot spots

(3) Branch of botany that deals with

relationship between the - tribal
people and the plants
- (4) Botany of lower plant groups
P.T.O.
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[A]
o7, Pt # e 3 OMEC 8
(1) TEHeed (2) P
(3) e (4) o 2
108. §ff daen qgg%% o TP
Aoy G : |
(1) Begfera (2) g
(3) TR (4) fegfm

109. Fr=fefad w99 (A) o &R (R) W
- Far #fm ok R Ro m ogd A
Qe § @8 I 1 Tad i
DT (A):
- @ @ % faged & @
frerfvs orq dw o
P g # &1

ﬁl@iﬁm'wq@mwﬁ
TR # Ty
IR e ¥

PR (R) :

%e -

(1) &M (A) T (R)
Pl T e &
@) T (A) @ (R) 7 ¥
(A F T8 e 7 "T®)
@) (A & frg (R) o 2
(4) (A) o & g (R) 7y 3

1 R Tz ) w3
ﬂ@ﬁﬁﬁﬁﬂ%ﬁmﬁmaﬁqw:
(A) BT

(B) ¥ciehivies

(C) T

(D) ST

(E) ==t aw

%e -

(1) A,BUg E
(3) AT§ E

' Level-3/4317 .

79 R (R), (A)
|

110.

(2) A,B D g
s 3, E
(4) A By D

e A § R

[22]

107. The most advanced order ip

gymnosperms is :

(1) Cycadales

\3) Gnetales
108. The sporophyte generation in the life
cycle of all vascular plants is :
(1) Triploid (2) Polyploid
(3) Haploid ~4) Diploid
Consider the following Assertion (A)
and Reason (R) and choose the correct
answer using the codes given below :
Assertion (A) : Gibberellic acids control
seced germination by
breakdown of stored
food material in
monocot seeds.
Gibberellic acid
induces -the activity of

a-amylase from
aleurone layer.

(2) Coniferales
(4) Taxales

109.

Reason (R) :

Codes :
(1) Both (A) and (R) are True and (R)
is the correct explanation of (A).
(2) Both (A) and (R) are True but (R) is
not the correct explanation of (A).
(3) (A)is true but (R) is false,
(4) (A) is false but (R) is true.

Selcct. the living cells from the

following using the codes given below :

(A) Chlorenchyma

(B) Collenchyma

(C) Bast

(D) Prosenchyma

(E) Sieve elements

Codes : -

(1) A,BandE
™3) Aand E

110.

(2) A,B,DandE
(4) A,Band D
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qﬁmaﬁg,ﬁwwwa%w

1.

4 Wm%mwmﬂ?
(1) T 2) fawAg™T
o) SR (@) TE

maﬁwwaﬁ:aﬁwaﬁr%:
(1) degeir oK S

(2) fafs ST sEs &

(3) U oY o

(4) Rt AR R @

W%W%WWW
@éﬂmﬁﬁﬁﬁmﬁiﬂﬁaﬁaﬂﬁ%:

112.

113.

(2) YA
(4) Hemi-a

(1) SIS
(3) SATHREA

DNAZA TS @91 G C% 99

g g %1 Prefarea § -4l

Fo 29 Urged ¥ 7T § 7

(1) A/T ara Fraa 81

@) A+T=G+C

(3) G®aT C% IUaR Bl & |

4) DNA & T g & eRieliczs
A H ST I T T A

114.

Freffid & & [T fopdr S ehel

2
115, RNA Ud DNA # 3¢ 8l & :

(1) s&3 Ud &Y & SR
(2) 97 Ud BT & HL
(3) Faw 9T B FROT |
(4) &R ud gfehe F HRw

l L"“"*l-i!m?.11r

[23]

111.

112.

113.

sl

Fusion of mature individuals which
directly act as gametes is called :

(1) Isogamy (2) Anisogamy

~3) Apomixis (4) Hologamy

[ntine of pollen grain is made up of :

~(1) Cellulose and pectin
(2) Lipid and protein
(3) Pectin and lignin
(4) Lignin and lignans

Development of sporophyte from the
gametophytic tissue without involving
fusion of gametes is known as :

(1) Apospory  (2) Apogamy
~(3) Parthenocarpy (4) Metaxenia

114. In DNA,. A pairs with T and G pairs

with C. Which of the following
statements is incorrect in this respect ?
“N1) A/T ratio is constant
2 A+T=G+C
(3) G isalways equal to C
(4) The sequence of nucleotides on one
strand of DNA can be used to
determine the sequence on the

complementary strand.

115. The difference between RNA and DNA

is because of :
(1) Sugar and base
\(2) Sugar and phosphate
(3) Only sugar
(4) Base and phosphate

P.T.O.
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et et & O A
R o & s s

116.

(3)3@,@@311@1%@?%%%3%@4%
ﬁ 1

(@.aﬁl@ﬁﬁ%aﬁ%aﬁwﬁ

117. @mﬁﬁmﬁf@ﬁ%ﬁﬁw%ﬁm
SaErd AN @ FE §

(1) HTEAHH S
(2) SR S
(3) AT S
(4) Fame S|

118. Y9 & foiQ w5 e @
U5 HHOT AN @ o Feiied § @
fpe SfiFuTeT & o @ HHTOT HRaT ?

(1) @a@ TT

(2) Fa tt

(3) Tt

(4) TT TG tt M

119. WaisT &1 Sear R s geee &)

;99 Wl &T % TUEK el g,
g PERT

(1) FEHTRE
() =™ fag
(3) TG (Faem) forg
(4) g |

120. =i § & S ; |
T B 7 P RN -
(1) amitq
() B

Level-3/4317

(2) arEiizs
(@) R

116. Bulliform cells are present 11 :
- (1) stomatal pits of succulent plants

(2) upper epidermis of some monocot
- Jeaves
(3) lower epide

Jeaves
(4) stem cortex of hydrophytes

rmis of some monocot

is responsible for the =

which e
e tide chain 1s

synthesis of a polypep
called : '

o) Structural gene

(2) Promotor gene

(3) Operator gene

(4) Regulator gene

118. To back cross an individual
heterozygous for tallness (Tt), it will be
crossed with the parent having
genotype :

(I) TT only
(2) ttonly
(3) Tt
@ Both TT & tt

119. Light intensity at “which rate of
photosynthesis will be equal to the rate
of respiration is known as -

(1) Climacteric

“A2) Optimum point

(3) Compensation point
(4) Minimal effect

120. Which of the following is a non-
proteinaceous biocatalyst ?

(1) Virons (2) Viroids
(3) Prions v4) Ribozyme
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121, TR (dRE) ot e o
g
(1) e () & (2) SR H
3) wRE ¥ (4) aRe |

122. FOR % fwas &= 2 @
(1) a9 K o @
) b Ca+311?3F1' q
(3) 34 Na @ Ca o
@4) Na ,K @ CI” omee &

123. HF-91 T FAEE F ARRRE wE
% &M F 787 forr o ?
(1) &&=
(2) TR
(3) A
(4) EHSRIRI

124. gow SfiE (o) @ gem wE
&
() StqTq
(2 ITITH
(3) $1 U7 T d7 91X TF T g+ &
(4) 9w &

125. SiEX FEN &7 B RS Wi & ¢
(1) wdffestem (2) FermatieT
(3) eI (4) gmifsrr

126. f79 ¥ ¥ Pv-ar Ry § s W
SRS 4% 78 7

(1) &Y T
(2) BRERY 9%
@) T =5
) FE <5
LEVe|..3,4317

y -

| LAY
121. Syncytial (Coenocytic) o

_ Pidermis g
presentin : '
(1) Musca X2) Pheretima
(3) Ascaris

(4) Starfish

122. Ringer's solution contains :
(1) Only K ions
(2) Only Ca' ions
\(3) Only Na' and Ca' ions
) Na K andCl ions

123. Which dye is mot used to stain
chromosome ?

(1) Feulgen
\L(2) Acetocarmine
(3) Safranin

™S@) Haematoxylin

124. The first genome is thought to consist
of :
(1) DNA
T2) RNA
(3) Both DNA and RNA
(4) Protein
125. A sponge harmful to the oyster industry
18
1) Spongilla  (2) Cliona
(3) Hyalonema (4) Euspongia

126. Which one of the following is not a

gaseous  biogeochemical cycle in
ecosystem ?

1) Sulphur cycle
(2) Phosphorus cycle

\(3) Nitrogen cycle
(4) Carbon cycle

P.T.O.
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;s undergoing prolonged

3 \ person - . e
Al #, 1 A -'p{ His urin€ will be found to
| : i sl tities of :
127. @ AN e W'ﬁ qrt e contain abnormal quanti

7 # = A _ 1) Ketones (2) Fructose

ﬂar{{. 57 Fats

() @ @) Glucose 4)

& e h of .thc following groups 18 of

& | 128 Whic
IS T deuterostomes 7

e g7 (1) Annelida, Mollusca, Chordata
(1)' T, e, edl 2) Annelida, Arthropoda, MC.'H;:SCE t
(2) T, ST, w ; ) Echinodermata, Hemichordata,
@) SEISAC T, el Chordata o
: (4) Arthropoda, ollusca,
(4) ST, A, W Echinodermata
120. 15X B G qur 45X IEED GRS 129. Light compound microscope with 15X

eyepiece lens and 45X objective lens
will have a magnification of :

TR e WgW QE # ST
g el

(1) 1000 (2) 2000 : (1) 1000 +«2y 2000
3) 675 (4) 875 ' (3) 675 4) 875

130. 1 ¥ § Soe A SH- R 130. Which one of the following palindromic
(W) I g A9 oftees sequences in DNA can be easily cut at
;ﬁaﬁ:g%ﬂm 7 A EE about the middle by some particular

restriction enzyme ?
(1) 5'-CACGTA -3
 3'-CTCAGT - §'

(1) 5'-CACGTA - 3'
3'-CTCAGT - 5'
(2) 5'- GAATTC - 3'

3'- CTTAAG - §' «{2) 3'- GAATTC - 3'
N Ap—— 3'-CTTAAG - 5
3'- ATGGTA - §' (3) 5'-GATATG - 3'
(4) 5'-CGTTCG -3 3'- ATGGTA - 5'
3'- ATGGTA - §' (4) 5'-CGTTCG - 3
131. 5y & l’a’ufg'q (;ﬁ@;{ QE[) ﬁ 3 A'TGGF[‘A -
' g Y .
(1) "riisige g7 ¥ 131. Golden Age of fishes i -
, :
2) STetdRiT (1) Coenozoic era
(3) et g 2) Ordovician nert
@) 2P g *ielan period

U3 Mesozoic erg

(4)" Devonian period
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[A]

In one non-replicated chromosome, how
many DNA molecules are present ?

(1) Only two
(2) Only one
~~(3) Only half
(4) Only four

132.

133. Cause of 'Cri-du-chat' syndrome is :
(1) Fertilization of an XX egg by a
normal Y bearing sperm.
(2) Trisomy of chromosome 21

~(3) Loss of half of the short arm of
chromosome 5

(4) Loss of long arm of chromosome 5

134. Which of the following is a poisonous
mammal ?
(1) Male Guinea Pig
(2) Female Guinea Pig |
(3) Male Ornithorhynchus
"(4) Female Omnithorhynchus |

135. Which of the following causes typhoid
fever in human ? '
(1) Shigella
™2) Salmonella
(3) Toxoplasma
(4) Microfilaria

136. Coelom is a space between :
(1) Splitted mesoderm

(2) Mesoderm and ectoderm

“\(3) Ectoderm and endoderm
(4) Splitted endoderm

P.T.O.

Scanned by CamScanner




138.

139.

140.

141.

Level-3/4317

(28]

T & 7
(1) ®HIEH
(3) R4

@) P
(4) IR

P % & A 51 B A
TR ANT AL

BT B Roferr a1 e

@ Tt % 71 ¥ .
¥ LU R e

G) T 9T S g
ST T & | %?hm@f'

@ T & a2 :
IE TR A et o

Areolar connective tissue joins :

1) Fat body with muscles
(2) Integument with muscles

(3) Bones with bones

137.

.(4) Bones with muscles

The first step in biosynthesis of

138. .
' polypeptidc is catalyzed by :

(1) Terminal transferasc

"™SNU2) Peptidyl transferase
(3) Initiation factor (IFs)

~4) Aminoacyl -tRNA synthetase

139. Kupffer cells are found in humans in :
~(1) Liver
(2) Testis
(3) Muscles
(4) Nerves

140. Which of the following reptiles is a

living fossil ?
- (1) Sphenodon y(2) Crocodylus
) Varanus (4) Tortoise

141.  Which of the following is not true about
chick embryology ? | '

(1) The Eggshell is formed of Silica.

2

Cleavage in chick embryo is
meroblastic.

3)

Chick embryo receivés its nutrition
from yolk sac.

4)

Eggshell membranes are twoO in
number.
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[A]

142. A man is affected by brachydactyly, an

autosomal dominant trait that causes.
shortening -of several fingers, What is
the risk that the man's first child will

have brachydactyly ?
() 100% (2) 75%
(3) 25% ~(4) 30%

143. Which one of the following is used for

bread preparation ?
(1) Saccharomyces ludwigii

) Saccharomyces cerevisiae
(3) Rhizopus stolonifer

™S(4) Rhizopus fermentis

144. The genes controlling the seven pea

145.

characters studied by Mendel are now

known to be located on how many

different chromosomes 7 '

(1) Four
“3) Seven

(2) Two
(4) Five

Cells obtained from an organism were
homogenized and centrifuged. A test

- indicated that the cells contained
glycogen. If you were asked to find out
as quickly as possible whether the cells
were from a plant or an animal, you
would :

(1) examine the centrifuged sample for
the presence of extracts of
chloroplasts.

(2) examine the centrifuged sample for
the presence of centriole.

\(3) answer immediately that the cell

were from animal source.

(4) It is very difficult to answer
whether it is from animal or plant.

P.T.O.
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8

146. Which one of the following gives j;
correct total number ? |

(1) Floating ribs in humans - 4

«(2) Amino acids found in proteins - 14
(3) Types of diabetes - 6
(4) Cervical vertebrae in human - §

147. Number of chromatids in ope
chromosome at metaphase is :

(1) One in mitosis and two in meiosis
~(2) Two in mitosis and four in meiosis
(3) Four in both mitosis and meiosis

(4) Two in both mitosis and meiosis

148. Eggs of insects are :
(1) Telolecithal (2) Oligolecithal
~(3) Centrolecithal TA) Mesolecithal

149.  Angiotensinogen is produced and
secreted by :

(1) Cells lining of the blood vessels

(2) Macula densa cel]s
~3) Liver cells

4) Juxtaglomerular cells

150.  Which of the following is responsible
for failure of vaccine in infants ?

(1) Serum protease
~NQ) Endotoxin
(3) Materna] antibodies

(4) Glucose molecule of blood
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